dY=A1[1+A,/A1Y]
Si=dYcieLa/dYinp=10.7)
Xy dY, logY
-1.0 0.027 025
—0.5 0.039 0.75)
0.0 0.077 125
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1.0 0575225

AjJA; =0.1417
A;=0.0216 A =0.003|

Richter_D_PO2_009A

(x,y,Y)=(0,33, 0,36, 18)
—2,0'!_|"'|'"'|_|)J_

-05 00 05 1,0 X=log[Y/Yy
36 18 90 180 Y




dY=A1[1+A,/A1Y]

Si=dYcieLa/dYinp=10.2
Xy dY, logY
-1.0 0.0250.25%)
—0.5 0.038 0.75)
0.0 0.08 125
0.5 0.212 1.75|
1.0 0.629225

4 A,lA; =0.1716
' A;=0.0197 A =0.003!
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dY=A4[1+A,/A1Y]

Si=dYcieLas/dYinD=12.6
Xy dY, logY
-1.0 0.0290.25)
—0.5 0.038 0.75)
0.0 0.065 125
0.5 0.15 175
1.0 0419225

A,lA; = 0.0852
Ay =0.0256 A =0.002
A3=0414 A=0.734
-A5 0.2799 Richter_D_PO5_258A
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